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Business Level Strategy
Business level strategy covers:
1. Competitive Advantages, 2. Market Focus and Competitive Advantages,(Experience curve vs. Experience effects) 3. Competitive advantage across the market life cycle (Growth, Maturity, and decline) 

Q. Discuss the Five Generic Competitive Strategies at the Business Level strategy.1

Types of Advantages Sought


         Lower Cost 





Differentiation


	Broad Range of Buyers
	1. Overall Low cost Provider Strategy


	5. Best Cost Provider Strategy
	3. Broad Differentiation Strategy

	
	
	
	

	
	2. Focused Low Cost Strategy
	
	

	 Niche Market
	
	
	4. Focused Differentiation Strategy


Q. Explain the Building and Eroding of Competitive Advantages of a business.2



                                     




      




Q. Discuss the strategic alternative matrix at Business level.

Alternatives (Based on Business Cycle)

1. Growth (Offensive)
 

2. Instability

 3. Survival (Defensive)

Criteria
	Sales, Profits, Market shares, Growth rates
	Return on sales, RO Assets, RO Equity, Rate of Recovery
	Critical Evaluation of Market, + Product, CE of Financial position, 

CE of Management



Approaches
	1.Market intensification (Penetration/Development/ Geographical expansion)
	1.Retrenchment (Contraction, Consolidation, Recovery)
	1.Management restructuring (Management process, Personnel)

	2.Diversification 

(Vertical, Horizontal, Acquisition, Merger)
	2.Turnaround 

(Profit improvement, Restoration)
	2.Financial structuring 

(Capital, Divest, Cash flow)



	3.International Business (Export, Foreign License, Joint venture,  Direct investment)
	3.Stabilization 

(Selectivity, Market balancing, Financial Retrenchment)
	3.Market restoration 

(Withdraw, Expansion, Acute retrenchment)


Ansoff’s Product-Market Expansion Grid 3

	Market Penetration Strategy
(Intensive Growth step-1)

	Product Development Strategy
(Integration Growth step-2)



	Market Development Strategy
(Integration Growth step-2)

	Diversification Strategy
(Diversification Growth step-3)




Three intensive Growth Strategies











1.Competitive Advantages
Based on 3 elements:

Customer wants products and services:

Better, cheaper, faster
Business Strategy:
3 forms 

a. Differentiation
b. Cost leadership
c. Quick response. = 
=identifying, developing, and taking advantages = Competitive Advantages.

a. Differentiation

* Competitive advantage increases profitability: For instance; Based on research findings

Differentiation vs. cost advantages = Consumer products  vs.
 Industrial products








Average ROI (%)

Low


Low
= 

14.2 (Durable)

8.1 (Capital goods)







9.7 (Non durable)
2.9 (Raw M)
Low 


High =


20.2 (Durable)

19.7






27.0 (Non durable)
28.8
High 


Low=


21 (Durable)

28.5






15(ND)

15.1
High 


High=


38.7 (D)

35.2






33.2 (ND)

34.9
Q. How can you differentiate products?4
a. Product features: Philips TV,

b. After sales services: 


c. Desirable image: Fashion products,
d. Technological innovation: Bose
e. Reputation: IBM!!



f. Manufacturing consistency:

g. Status symbol: Sports car


Q. How can you achieve the differentiation?

VCA= Primary and supporting activities.
Q. How can the differentiation strategy address the Porter’s 5 forces?5
i. Competitive rivalry lessened as firms distinguish themselves. E.g., Jaguar vs. Toyota
ii. Brand loyal customers less price sensitive
iii. Difficult entry level: Coke and Pepsi market 

Q. What are the risks of differentiation strategy?

i. If several competitors pursue similar differentiation strategy. : Me too affect
ii. The Specialists work well  in the Niche market rather than for big market. E.g., Tandem computers and its special tailor made software, but building-Eroding concept works. 
iii. Attempts to stay a step ahead of the competition may result in ‘gold plating: Car light wiper.
Q. What vital factors to consider while making a successful differentiation strategy?

3 issues:

a. Understanding what customer value

b. Being uniquely able to provide that value and
c. Being able to charge a premium price for it.
 Cost leadership
Q. What does the cost leadership works? 
i. No frill product=Mass market = standard product = mass production = standard price/ low price = less R &D
ii. Cost benefit analysis by customers = relative term = luxury also cost competitive.

iii. Overall cost leadership is required, not one or two costs focus.

Q. What is Strategic Cost Analysis?

· Focuses on a firm’s costs relative to its rivals

· Compare activity by activity costs from raw materials to customer price

· Internal cost points.

Q. How can the Cost leadership strategy address the Porter’s 5 forces?6
a. Rival companies afraid to go on price war, as convinced the low cost position. Peacekeeping weapon.
b. Protected from customer pressure to lower price further: 
Survival price=low cost monopoly.  
c. Low cost producers can withstand raw material price hike: 
Coffee price hike for bad crop.
d. Price based new entrants in trouble to compete low cost leader. 
Experience curve effect = volume production=gain experience=production cost down.
e. Better substitute products to compete.  Or, Substitutes are less profitable.
Q. What are the risks of Low cost leadership strategy?7
a. All or nothing strategy

b. Low cost vs. cutting product attributes= ruinous. 
Watney’s red Beer vs. CAMRA consumer advocate groups.
c. Imitable tactics = low cost = branded vs. generic

d. Dedicating to cost cutting=less competitive =long run.

Q. What vital factors to consider while making a successful low cost leadership strategy?

2 issues:

a. Careful monitoring of firm’s internal operations and customer needs

b. Many types of costs and difficult to manage, as affects differently.
Quick Response..\QR.mht
Develop, produce, and deliver faster than competitors = survive. 
CEO Intel opined- ultimately speed is the only weapon we have. 

- Differentiation and QR are complementary. 

- Just like high cost and unattractive feature = diminish the desirability of a goods or services, 

Slow response to customers’ needs = go for alternatives

-QR = firms flexibility. 

-All will be able to improve, change etc. but slower firms will not be able to catch the market.

For example: company A and B are competing in the same market. But A can read the market quicker, manufacture many different products on the same line, switch from one to another instantly and at low cost, make as much profit on short runs as on long ones, and bring out new offerings faster than B or do most of these things- then A win. A can parry B’s every thrust, attack niches in B’s market as B is too bulky to squeeze into, or to improve faster, and maintain or even fatten profits while forcing B to follow A on prices.   
Q. Quick response? E.g., GE, Benetton (7days delivery globally)
Up to 1980s, Differentiation and low cost strategy worked well. 

Post 1980s those two are taken as value for granted.  Or, ‘Atarimae hinshitsu’ in Japanese. 
1990s phenomenon= quick response. Faster = competitive advantage = Flexibility.

Q. how can you gain competitive advantages by being a Quick responder?8
a. Developing new products, e.g., AT&T. Designing new products time decreased from 2 years to 1.  
b. Customizing products. E.g, GE 3 days to build custom made industrial circuit box, previously it took 3 weeks.
c. Improving existing products. E.g, Japanese phenomenon. 
d. Delivery of ordered products. E.g, Benetton sports, 7 days global delivery. So, seasonal change is adjusted. 
e. Adjusting marketing efforts (Anheuser-Busch=Budweiser vs. Elder=UK market=Brit image vs. US) When it fixes up, Elder became a strong competitor. 
f. Answering calls. (Bank loan= 3 days to 30minutes)

Q. How could you affect the 5 forces with QR?9
a. Avoid head to head rivalry (Quick model change=Motorola)

b. Faster = premium price

c. Encourage supplier to be quicker

d. New entrants and substitute products stay away from quick responders:
(QR= Quick innovative)
Q. What are the limitations of QR?
a. Firm may not have QR systems (HR=Technology)

b. Speed is not equally important for all markets and customers.

c. Speed creates stress

d. Speed for speed’s sake = no competitive advantage. 

2. Market Focus and Competitive Advantages:
* Niche / segment focus = competitive advantage.  Eg. Prodigy (IBM+Sears) vs. America online. See case in the last page.
Reasoning for :
* Broad market = Cost leadership= largest yield = economies of scale + experience curve effect = more competitive price
e.g., Economies of scale= Computerized reservation system of a big airline is less costly than its smaller sized company.

Experience effects: It happens when a task become easier as it is repeated until the process is routinized. 
* Status symbol vs. shared by all.

· Specialization: Cost basis. E.g. Minimills.= response time/flexi. 
· Danger of being niche= Takeover target.= Limited growth.= New entry threat(e-card vs. Hallmark)
· Niche useless until = differentiation, cost, QR= competitive position.

The cycle of Experience effects:

1.  Lower relative cost
2.Lower price
3.Greater sales
4.Higher Market 


share
5.Higher production

6.More rapid gains in experience



2. Even at lower volume lower costs can be achieved.10










Production Volume

EOE= Equal Optimal Efficiency.
3.  Competitive advantage across the market life cycle:13
Growth, Maturity, and decline = Life cycle = is not a short run forecasting device= reversible / repeatable.  E.g. Tide 30 years – 55 times product modified.
a. Introduction stage of life cycle:

· Pioneers= Competitive advantage (First mover advantages).

· Set rules of game (IBM or Apple)

· Strong brand recognition (Kleenex and Xerox)
· Differentiate through advertisement (No competitors)
· Advantages of being a new product.
Average market share by time in market
	Variables
	Consumer products (Average) %
	Industrial product (Average)%

	Pioneers
	29
	29

	Early Follower
	17
	21

	Late Entrant
	13
	15


How to sustain? Adjustment.
E.g., TI vs. Timex
Beginning: Technological advantage = TI = market share, as time passes by- market matured- 

Competition = Designing and manufacturing competency vs. Marketing competency. 
TI was out due to maladjustment with market life cycle.

b. Growth stage of life cycle:

Glamour and success. Demand > Supply.  Price pressure = Less. R&D = Advanced. Sales=Soars. 

Could it be misleading?
· Easier to gain market share!: Customers are stolen. Usually no competition from In-kind=from the same kind of product, But Functional competition.
e.g., Digital watch vs. Analogue. 

· Less price pressure! : Price skimming. = More competitors. To be adjusted with short term return vs. long term viability.

· Critical expertise growth! : Dominant design. Eg. Car= fuel. Cutting edge firms also are outperformed if mimicable. Korean or Chinese firms. 

c. Maturity stage of life cycle: 

More competition stage. 
Features / Symptoms:

* Lack of growth 

* Competitors are on even footing (Patent right elapsed)
* All experienced (No cost benefit)

* Price war coming

Case: Compaq.
Enjoying earlier 20% growth per year
Profit fell from 6.5% to -0.12% in 1992.

So, slash costs and fight for lower end of the market. Gold-plate affect.
ProLinea.

Sales doubles in 6 months. Growth in mature market possible! It requires offering what customers want. 
Not all the firms not need to involve in price war.

Eg.: Safer firms are :

1. Making – differentiated

2. Market trend is-  UP

3. Industry capacity utilization- up

4. Customer- Mass

5. Competitors – few

6. Visibility of price in competition-Low

7. Switching cost- high

8. Customer price sensitivity – low

9. Cost trend – Stable.

The reasons for price wars are detrimental:
McKinsey & Company’s research report (2463 firms).

a. Price-Profit-volume affect: 

1. Profit-price sensitivity: 
· 3% price cut = 37% Revenue cut. (So, increase volume sale)

· 3% price cut = 12% volume increase. (Price elasticity 4:1, Norm=2:1)

     2. Price VS profitability:

· 1% improvement in price = 11.1% improvements in operating profits.

· 1% reducing of VC = 7.8% improvements in OP.

· 1% improvement in Volume=3.3% ……

· 1% improvement in FC = 2.3%...............

b. Price cut short lived:
e.g., Book retailing, Airlines, food and lumber.

c. Low price remembered:

e.g., Car sale rebate to customer.

d. Low price undermine Value and benefits:

Q. How to avoid the Price Wars?12
i. Avoiding lower price strategy (Advertising):

Focused on product benefits (Slow progress > than rapid losses)

ii. Avoid misreading the market:
e.g., Stats mistakenly overstated 15% market share on competitors’ name, so, cut the price

iii. Avoiding overreacting to price cut (Except PC market, spares are going down):

e.g., it’s temporary and targeted.

iv. Jawboning and publicity: 

v. Product repositioning:

e.g., Perdue chicken, and Orville Redenbacher popcorn.

Q. Other than price wars what alternatives exist for competitors in mature markets?

· Differentiation : e.g., US TV market,  stainless Steel, corrugated cardboard

· TQM

· Good quality.
Q. How could you explain the 5 stage growth model?11
I. Planning stage: Readiness, Redefining

II. Initiation stage: Launch, Constraints, Funds, Operational, confusion, High morale Depressed earnings.

III. Penetration stage: Market-sales up, competitive, accelerated growth starts.

IV. Accelerated growth: Prolong, exploit, Euphoria, Strain later.

V. Transition stage: Slow, earnings >sales, signs of aging, attacks coming. New strategy needed.







Time

Case:

Source: Harvard Business Review (July-Aug 1988).
Atlas Door

Atlas Door produces industrial doors, which have an almost infinite variety of specifications regarding size, material and construction. Historically firms in this industry took 4 months to respond to an order, Atlas entered the market determined to beat the established firms by drastically reducing the time required to fill an order. It set up a JIT factory and greatly improved standard delivery logistics. Atlas also developed computer-aided design capabilities so customers could describe a door to an Atlas engineer over the phone who would then draw up the order while the customer answered questions.

Atlas became the only competitor in the industry that could consistently fill orders in weeks instead of months. With contact deadlines to meet, customers in the construction business found such availability hard to resist. The company’s’ new ordering and design systems greatly reduced mistakes, its reputation for speed allowed it to charge a premium price, and its faster overall production process lowered costs.

As one would expect, the results were spectacular. In the first 10 years of operation, pretax earnings were 20% of sales, about five times greater than industrial average. In this short time, Atlas established itself as the number one company in the industry, replacing the former leading door suppliers in 80% of the distributorships in the nation. 
Case:
Source: Forbes (October 25, 1993)
Prodigy

The early years of the online data services industry provide a good example of how firms pursuing focused niche strategies can compete very effectively against much larger rivals. The giant in this industry was Prodigy, the product of a joint venture between two giants, Sears and IBM.  Prodigy had more than 1 million subscriber households and more than 2 million users and tapped more than 800 databases. By comparison, America Online was a tiny firm whose total annual revenues were about the same as Prodigy’s advertising budget. 
However, while Prodigy was losing $30 million on a sale of $200 million, America online was making $3 million on sales of $40 million. America Online was profitable only 2 years after it was launched, while in a decade of operation Prodigy racked up $1 billion in cumulative losses. Why was the much larger Prodigy suffering so in comparison with the much smaller America Online? Outsider observer says that Prodigy’s mass market strategy was simply not as effective as America online’s niche strategy.

Like its giant parents, IBM and Sears, Prodigy attempted to be all things to all people. However, this meant that it had to educate and cajole families who would not otherwise use computerized data services into buying their service. With efforts diluted across such a wide base, Prodigy was slow to develop a clear competitive advantage, its services were often inferior; for example, its electronic bulletin boards were noticeably slower than those provided by competitors. Prodigy’s cost structure reflected its intention to serve a mass market, but until this mass market developed, its overstaffing resulted in costs that were not competitive. Finally, Prodigy was hurt by being slower than its competitors to get innovations, such as software to take advantage of Microsoft’s Widows operating system, into place. 

Meanwhile, America Online was proving to be an agile fighter, moving quickly to establish itself in profitable niches. For instances, the firm formed a joint venture with the Chicago Tribune to offer an online version of the paper just for the Chicago market. Then it formed another partnership with SeniorNet, which promoted the service to its 5,000 member families, collecting a sales commission for every member who signed up. In return, America online added special features targeted to older subscribers, including bulletin boards with news and information on health care and sex for hose over age 50. In a move to combine experience in both of these niches, America online developed electronic newspapers in parts of Florida where the Tribune owned other papers and there was a large population of the elderly. While it will probably never be a very large competitor in this industry, America online is arguably the very best in serving the niches it has focused on, and in many industries this appears to be more important than size in determining the profitability of a firm. 
Case:
Compaq

The personal Computer industry has quickly moved from the growth stage to the mature stage with important implications forits members. While revenues were growing at well over 20% per year not long ago, today they are growing only slightly faster thatn the economy in general. 
Reasons- Brutal assault on prices across the industry. 

The price decline has take place as computers have come to be seen as commodities , with clones offering performance that is equal or even superior to that of brand machines. 
Profit fell from 6.5% to 0.12% in 1992.
Earlier growth rate was 70% grossly. 

Sales policy / Pricing

1.

 One basic assumption typically made in economic theory is that a company meets competition by raising or lowering its prices. A. how may a company meet competition aside from adjusting its prices? B. why might a company prefer not to alter its prices each time there is some change in its local supply or demand situation?

2.

What connection may there be between a company’s policy to sell above, at or below the market and its policy regarding national advertising?
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Strategic moves Creates Competitive Advantages





Moves by Rivals Erode competitive advantages
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The gap between Current portfolio and Desired portfolio = Strategic Planning Gap.





Diversification Growth step-3
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